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. Sum(
Filter (

Descendants ([Issue]. CurrentMember, [Issue]. [Issuel),

[Measures]. [Hours spent]>0

)

([Measures]. [Hours spent],

[Timel. CurrentHierarchy. DefaultMember)

-

Fafh £S5 At

Sum (
Filter(

Descendants ([Issue]. CurrentMember, [Issue]. [Issuel),

[Measures]. [Hours spent]>0

)

([Measures]. [Original estimated hours],
[Time]. CurrentHierarchy. DefaultMember)

)
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CASE WHEN
[Measures]. [Issues with SEPR_EZkHEAI>0
' THEN
:i;%k Sum (
' Filter(
DescendantsSet ([ Issue]. CurrentHierarchyMember, [Issue]. [Issue]),
——condition to filter out the relevant issues
[Measures]. [Issues with SEPR_EZkHEAI>0
),
——numeric value to sum
([Measures]. [Hours spent],
—the next row resets the Time dimension
[Time]. CurrentHierarchy. DefaultMember)
)
END
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